it

DARPAN Means

(C) Digital Advancemen

tof Rural post offices for a Noble India
(D) Digital Advancemen

tof Regional Post offices for a New India

2. ERP Means o D are
p ise Resour
(A) Enterprise Review Planning (8) E"terp”f:(;esource Planning
(C}Engineering Resource Planning (D) Empanelle
3.

Under which Project De
(A) Rural Hardware
(C) Core System Integrator
Change Management Project is

(A)to Prepare €Mmployees for the change through training

(B) to change g the old hardware with new compatible hardware

(C) to change a)| the old software with new compatible software
(D) to change aJ| the training Modules

5. SPARSH means

i men
Partment has supplied Mobile Phones to Post
(B)'Mail Operations Hardware
(D) Rural System Integrator

(A) Taj Mahal, Agra

(B) Qutab Minar, Delhi
(C) Red Fort, Delhi

(D)'B.R. Ambedkar

OW much can be withdrawn after an
year?
(A) 20% (B) 30% (C),40% (D) 50%
8. Which are the schemes for which Mini Statement facility is available Currently under
e-Passbook system under POSB?
(A)sB (B) PPF (C) ssa (D) All the above
9. Money orders addressed to Minors
(A) Can be paid to him if he is capable of understanding the transaction
(B) Can be paid only to natura

|/ legal guardian
(C) Can be paid to him with pro

Per witness even he is under tears of discretion
(D) None of the above

'om Bank account to POSB/ pPPF account

(A) IPOSBO0O0ODOP (B) IPPFOODODOP (C) IPO0000DOP (D).IPOSOOOODOP
11. What is the Period of Preservation for work papers of RMs offices and Sections?
(A) 12 months (B) 15 Months (C) 18 Months (D) 24 Months
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17.

Machinable is called
1

hinable and Non-
2. The Process of separation of articles as Machinab

ration (D)
(A). Cu!ling (B) Sorting (C) Sepa

oK foreign parce can be redirected outside India

(A) Only f the redirection fee is pre-paid by the agent in India
(B) Redirection fee will be collected from the addressee

(C) Cannot e redirected outside India

(D) At the discretion of the Postmaster

i me will
14. If the sender of 3 Foreign article submitted a request for recall of article, the sa

be forwarded beyond India by
(A) Only surface means
(B) Generally by surface but by air beyond India if the air surcharge is paid
(C) Request will not be forwarded to other country beyond India
(D) None of the above
15. Inward foreign articles can be delivered at
(A) Head office/ Sub office

(B) Branch offices
(C) Office of Exchanges

(Q] All the above

6. Undeliverable Printed papers received from foreign countries are

(i) Generally, not returned
(i) On request, returned by surface

(iii) Returned by air but the air charges are recoverable from the sender at the time of

delivery
(A) All are correct (B) None is correct
(C) Only (i) & (ii) are correct . (D) Only {iii) is correct
Customs duty can be paid by
(i) Cash (ii) Cheque (iii) UP1 QR Code
(A) i only is correct (B)iand ii only are correct
(C)all are correct (D) None is correct
18. Complaint relating to VP articles should be given within from the date of
booking
(A) 1 month (B) 3 Months (C) 12 Months (D) Any time

19. Fee for acknowledgement is exempted for

(A) Insured articles (B) Insured articles and Blind literature Packets

(C) Blind literature Packets (D) None of the above
20. Weight of the unregistered Parcel should not exceed
(A) 1KG (B) 2 KGs . (C)3KGs (D) 4 KGs
21. Solar Powered, Micro ATM Complaint hand-held devices were supplied to Rural Post
offices in '
Ao (B)IT2.0 (C)IT3.0 (D) None of the above
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pinacle has been introduced under which Silo of IT 1.0
22. H

(A) Rural System Integrator (B) Core System Integrator

(C) Core Banking Solutions (D) Financial System Integrator
23. Which one of the following is not a part of IT Modernization Project 1.0?

(A) Supply of Mobile phones to Postmen

(B) Train the BPMs to adopt the changes

(C) Supply of Mobile phones to BOs

([;) Implementation of Core Insurance Solutions
24. What is the Term Period of Gram Priya Policy?

(A) 15 years (B) 10 years (C) 20 years
25. Surrender facility is not available for

(A) Whole Life Policy
(C) CWL Policy

(D) Upto 60 years of age

(B) Endowment assurance Policy
(D) Children Policy
26. What is the maximum Coverage under Joint Life Assurance?

(A) 20 Lakhs (B) 10 Lakhs (C) 50 Lakhs (D) 1 Crore

. The authority competent to permit mutual exchange of duties between Sorting

Assistants without any extra expenditure is
(A) Head Sorting Assistant (B) Record Officer
(C) IRM/ ASRM of the set concerned (D) Mail agent

28. When the LSG Supervisors have been sanctioned in a Mail office in addition to the

Head Sorting Assistant, then the Supervisors will submit a

to Head Sorting
Assistant.
(A) Daily Account (B) Daily Report (C) Daily Note (D) Daily Order sheet

29. If an Insured article addressed to a Foreign Country for which Insured letter service is
not available, is received in a Foreign Post office, then it should return it to

(A) Sender (B) Head of the Circle

(C) Concerned Mail office (D) office of Posting
30. Application for availing the Bulk Bag facility is to be given to

(A) Head of the Division (B) Head of the Region

(C) Head of the Circle (D) Director General

31. Bees and silkworms can be transmitted by Post
(A) from foreign countries .
(B) from foreign countries only if accompanied with certificate issued by competent
] Government authorities

(C) cannot be transmitted from foreign countries o
(D) from foreign countries on grant of license by the Divisional Head

i i [ ce service,
32. Parcels addressed to foreign countries which do not provide Insuran

(A) Can be insured only for inland transit R
i is paid at double
insured if proper fee is pai
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(C) Can not be insured
(D) None of the above

Post ®
33. Which of the following cannot be sent by (B) Human and Viscera

[ ve
(A) Asafoetida / Dry fish with strong sme! (D) None of the abo
(C) Al the above

rs
34. Postage stamps can be sold by ndo
(A) Post offices

(C)Any one

(B) Hospitals / Licensed ve
(D) Onlya &b
can also be delivered through Postbox
(B) Family members/ Guests
(D) All the above

35. Articles addressed to

(A) Holder " )
TR A ices like booking of Registered/ Insure
‘ lly, the services Ii ik
36. On a Normal working day, generally, - 1od in Principal Post offices for
icles, Value payable articles will be provided in Principa
IR, (B) 4 to 5 hours

(A) 6 to 7 hours (D) Round the clock

(C) 3 to 5 hours
37. Registered newspapers and Packets of Regr‘stered. Newspaper can be accepted at

Press Sorting offices even on Sundays and Postal holidays

(A) With prepayment of late fee

(B) Without prepayment of late fee

(C)But the late fee will be collected from the addressee

(D) None of the above

38. Reproduction of Postage stamps are permitted in Philatelic publications but the
colour of the same should

(A) Only be in Red
(C)Only be in Black
39. Where the attendance will pe marked twice?
(A) Branch offices
(C) Where the staff are on Split duty

(B) Only be in Blue
(D) None of the above

(B) Mail offices

(D) All offices
40. Tests applied on the work of Postmen by the Postmaster wij be recordeqd in
(A) Office order book
(B) Postmaster’
(C) Postmen book (D) so Account e

€ BO Daijly Account, the Sy
(A) Can correct the Same

(B) Should senq BOD
(C) Error should pe

b Postmaster

M Integrato, (B) Rural seryice | Ntegrator

(D) Research and Service Indicato,



45.

46.

47.

48.

49.

50.

51.

52.

53.

ea[‘IS
recovery centre |
i (B) Disaster Recovery Centre

Resource Centre
(D) Data Resource Centre

y nﬁc

(A
(© DS’
MGNREGS means
' a) Mahatma Gandhi Nano Rural Employment Guarantee Scheme
(8) Mahatma Gandhi National Rural Empowerment Guarantee Scheme
(C) Mahatma Gandhi National Rural Employment Guarantee Scheme
(D) Mahatma Gandhi National Rural Employment Guarantee System

What is the rate penalty under BNPL Scheme for non-payment of dues?

(A) 12% per annum (B) 12% per month

(C) 12% per quarter (D) 12% per half year

What is the rate of additional discount for the Speed Post customer who avails the
Advance Deposit facility and has a monthly turn over of more than 25 Lakhs?

(A) 1% (B) 2% (C) 0.5% (D) Nil

What is the maximum amount that can be collected under COD system?

(A) Rs.5000 (B) Rs.25000 (C) Rs.50000 (D) No limit
Headquarters of Asia Pacific Postal Unionis in

(A) Bangkok (B) Manila (C) Washington (D) New Delhi

Airmail articles received from other countries may be redirected to other countries

on payment of
(B) Air surcharge

(A) Equal amount of postage
(D) Double the charges of Postage

(C) Free
Maximum weight that can be transmitted by Letter mail is
(A) 2 KG (B) 5 KG (C) 10KG (D) None of the above
0.07 x 0.28 + 0.02+0.48 - 2.48+0.04=
(A) - 60.54 (B) 60.54 (C)4.28 (D) 42.8
A sold the Pencil for Rs.72 and made a loss of 10%. If he wants to geta profit of 15%,
for how much he should sell the pencil?
(A) 92 (B) 80 (C) 88 (D) 120
A grocer has 3 sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. GSEZt f:r
5 consecutive months. HOW much sale must he have in the sixth month so that hé
gets an average sale of Rs. 65007 60
(A) Rs. 4991 (B) Rs. 5991 (C) Rs. 6001 R s

eight of 16 boys in a class is 50.25 kg and that of the remaining

e class.

The average W
is 45.15 ke. Find the ave

(A) 47.55 kg

ghts of all the boys in th

(C) 48.55 kg (D) 49.25 k&

rage wei

(B) 48 ke
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56. ——
[over-gws | AW -cBy RADAR=7P72? |
T (A)SzCZS (B) QZCBQ | (C) GBCBQ | (p)azczs
57.
~ MISSION =1 ROLE =0 L VISION =0 DIM=7?
l (A) O (8)1 (C)2 (D)3
58. Milk = Lactometer, Heat = Thermameter, Earthquake = ?
(A) Seismograph (B) Sismograph (C) Pulmograph (D) Rudograph
59.
A A Y
(A) (B) (C) (D)
60.
Book = Pages, Desert = arid, Sea = ??7?? I
(A) Boat (B) Ship (C) Whale | (D) Water ]
61.
Pencil = Carbon Coffee = ??2? ]
(A) Coffin (B) Milk (C) Sugar (D) Caffeine ]

62. Choose the most suitable water image of given letters

[ GROBAP76ES ‘
(1) GHBBYBAOE2  (2) GYBBVb)OER |

(3) CHO8YbiGER (4) CABAbLRES
(A) 1 (B) 2 (€)3 (D) 4
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63. Jai scored ' :
o b_90% in 5 Subjects and wants to increase his percentage by appearing in one
su
ject to 95%. Then, how much he should score in the sixth subject out of 100?

(A) 100 (B) 95

64. |

C) 98 i i
(C) (D) Not possible to increase the score to 95% at all

n a class, 70% passed in language and Maths and 60% passed in Maths and science.

The students who failed in Science but have passed in Maths is 5. Then, how many

students are there in the class?

65.

66.

67.

68.

69.

70.

71.

72.

73.

(A) SO () 100 (C) 30 (D) 40

f a bus is 54 kmph and including stoppages, it is 45

Excluding stoppages, the speed o
kmph. For how many minutes does the bus stop per hour?

(A)9 (8) 10 (€) 12 (D) 20
A farmer travelled a distance of 61 km in 9 hours. He travelled partly on foot @ 4
km/hr and partly on bicycle @ 9 km/hr. The distance travelled on foot is:

(A) 14 km (B) 15 km (C) 16 km (D) 17 km

Indian National Flag was designed by

(A) Sarojini Naidu (B) Pingali Venkayya
(C) Pochampalli Venkayya (D) Mahatma Gandhi
How many times India won T-20 World Cup in Cricket?
(A)1 (B) 2 3 (D) 4
Which is the State animal of Telangana?
(B) Tiger (C) Jinka (D) Palapitta

(A) Black Buck

The word “Ethics” is derived from
(B) Greek (C) Sanskrit (D) None of the above

A pupil's marks were wrongly entered as 83 instead of 63. Due to that the average
marks for the class got increased by half (1/2). The number of pupils in the class is:

(A) 10 (B) 20 (C) 40 (D) 73
yield Rs. 81 as interest at 4.5%

(A) Latin

How much time will it take for an amount of Rs. 450 to

per annum of simple interest?

(A) 3.5 years (B) 4 years
A lent Rs. 5000 to B for 2 years and Rs. 3000 to C for 4 years on simple interest at the
of interest and received Rs. 2200 in all from both of them as interest. The

(C) 4.5 years (D) 5 years

same rate
rate of interest per annum is:
(A) 5% (B) 7% (C) 8% (D) 10%
74. CMM, EOO, GQQ, , KUU
(A) 1SS (8) ITT (C) IRR (D) IVV
75.
r ABCDE = B+€£¥ |
(@) +pE (8) BE (©) £+
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76.

11,22,12,36,13,52,14, 27
| 8)67 (043 |22 \
i} -
TEAM = MATE . buRes 1
(A) URDE @ RUED L L JIE L —
78.
oje
o lo

B B
& 10

(A) (8) (C) (D)

79.

(A) (B) (© (D)
aircraft was slowed down due 1o bad weather. Its average

speed for the trip was reduced by 200 km/hr and the time of flight increased by 30

minutes. Original duration of the flight is:
(B) 2 hours

81. Dev completed the school project in 20 days. How man
complete the same work if he is 25% more efficient than Dev?

(A) 10 days (B) 12 days (C) 16 days

b |~ 8|

) (e 0
P A8

80. In a flight of 600 km, an

(C) 3 hours (D) 4 hours

(A) 1 hour
y days will Arun take to

(D) 15 days
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2. Ram and Seetha started working on a project and they can complete the project in 30
days. Ram worked for 16 days and Seetha completed the remaining work in 44 days.
How many days would Seetha have taken to complete the entire project all by

herself?
(A) 25 days (B) 55 days (C) 46 days (D) 60 days
r 83. Boodhan movement by Acharya Vinobha Bhave has been started in which village?
(A) Kanchivaram (B) Prodattur (€) Pochampalli (D) Srirangapatna
84. Which of the following is not a Tributary of Godavari?
(A) Pravara (B) Hemavati (C) Sabari (D) Manjeera
85. Which state has the largest coastal line in India
(C) Gujarat (D) Karnataka

(A) Andhra Pradesh (B) Tamilnadu

86. What is the strength of nominated members in Rajya Sabha?
(D) None of the above

(A) 12 (B) 15 ()20
87. The General Election has been conducted in 2024 to form _ Lok Sabha?
(A) 17th (B) 18th (C) 19th (D) 20th
88. Which is the largest Jute producing state in India?
(A) Tamilnadu (B) Bihar (C) West Bengal - (D) Karnataka
89.
} A26,E22V, ,_ 1 \
(A)6,Z (8)Z5 (€)5.2 (D) 5,Y \

(A) (B) (C) (D)

e a OO
(A) (8) (€) (D)

92. Salary of Therasa and Raheem save Rs.10000 every month which is half of Raheem’s
salary. Ratio of their salary is 3:1. Then, what would be their total salary?

(A) Rs.60000 (B) Rs.80000 (C) Rs.15000 (D) Rs.40000
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+ B*2/327/241/2 =

(A) 13/7 (B) 9/14 (C) 14/9 (D) 7/13
94. [(18-6):4]+[72-12+3x2]=

(A) 70 (B) 13 (c) 73 (D) 67
95 LLAY

(A) N (B8)O (C)F (D) M
96. 1,2,2,4,8,32,256,

(A) 8164 (B) 8192 (C) 2048 (D) 512

97.
= ) ?
’ [ &
(B) (C) (D) None

/ (A) ‘I’ "I’ | &

David sold a bicycle at Rs 2100 and made a loss of 25%. At what price should he sell

98.
the bicycle if he wants to make a profit of 15%?

(A) Rs.3220 (B) Rs.2320 (C) Rs.420

99. By selling 33 m. cloth, a shopkeeper loses money equivalent to selling price of 11 m.

(D) Rs.2330

Find his loss percentage
(A) 15% (B) 11% (C) 25% (D) 20%

100. A fruit seller had some apples. He sells 40% apples and still has 420 apples. What is
the total number of apples he had originally?
(A) 840 (B) 740 (C) 600 (D) 700
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